
AMSTERDAM
MANUEL D’INSTRUCTION BANC 636030 
ASSEMBLY INSTRUCTION BENCH 636030

ÉTAPE 1 
STEP 1 ÉTAPE 2

STEP 2

ÉTAPE 3
STEP 3

LISTE DES 
PIÈCES
PART LIST BOULON M6x15

BOLT M6x15
BOULON M8X20
BOLT M8X20

RONDELLE M8
WASHERS M8

RONDELLE M10
WASHERS M10

CLÉ À MOLETTE
WRENCH KEY

CLÉ ALLEN
ALLEN KEY


